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import ujson

from machine import Pin, I2C, ADC
from math import sin, cos, radians
from time import sleep

import framebuf

from ssdl306 import SSD1306_ I2C
from ir rx.nec import NEC 16
import utime

import time

# Constants and initialization
FLASH FILE = 'settings.json'
volume level = 50 # Default volume level

# Functions to load and save volume level
def load settings():
global volume level
try:
with open(FLASH FILE, 'r') as f:
settings = ujson.load(f)

volume level = settings.get('volume level',

except OSError:

# File doesn't exist or can't be read, using default values

volume level = 50

def save settings():
settings = {'volume level': volume level}
with open (FLASH FILE, 'w') as f:
ujson.dump (settings, f)

# Initialize OLED

OLEDinit = Pin (15, Pin.OUT)
OLEDinit.low ()

sleep(0.2)

OLEDinit.high ()

OLEDinit = Pin (2, Pin.OUT)
OLEDinit.low ()
OLEDinit = Pin (3, Pin.OUT)
OLEDinit.high ()

i2c = I2C(0, sda=Pin(0), scl=Pin (1))

# Scan the I2C bus for devices
devices = i2c.scan()

# Addresses for the two OLED displays
OLED ADDR1 = 0x3C
OLED ADDR2 = 0x3D

if devices:

print ('I2C devices found:', [hex(device) for device in devices])

else:
print ('No I2C devices found')

# Initialize the OLED displays
oledl = SSD1306 I2C(128, 64, i2c, addr=OLED ADDRI1)
oled2 = SSD1306 _I2C(128, 64, i2c, addr=OLED ADDR2)

# Load saved settings
load settings ()

# Constants for OLED display
OLED WIDTH = 128
OLED HEIGHT = 64

# Define the pins for the left and right inputs

left pin = 26 # GPIO26, can be adjusted based on your connection

right pin = 28

# Default to 50 if not found
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# Set up the ADC for the left input
left adc = ADC(Pin(left pin))
right adc = ADC(Pin(right pin))

# Sample window in milliseconds
sample window = 5

# Meter parameters
hMeter = 65
vMeter 85
rMeter 80

# Initial values for peaks and signal min/max
PeakLeft = 400

PeakRight = 400

fallTimeLeft = 0

falltimeright = 0

# Constants for menu
MENU ITEMS = ["Volume Control", "VU Meter"]
menu_index = 0

# Global variable to control the state
current state = 'menu'

def callback(data, addr, ctrl):
if data > 0:
decoded value = decodeKeyValue (data)
handle ir command (decoded value)
print (decoded value)

ir = NEC 16(Pin (14, Pin.IN), callback)

def decodeKeyValue (data) :

if data == 0x16: # Button 1
return "1"

if data == 0x19: # Button 2
return "2"

if data == 0x44: # DOWN button (decrease volume)
return "DOWN"

if data == 0x43: # UP button (increase volume)
return "UP"

if data == 0x4A: # # key (exit to menu)

return "EXIT"
return "UNKNOWN"

def handle ir command (command) :
global current state

if command == "1":
if current state == 'menu':
current state = 'volume'
elif command == "2":
if current state == 'menu':
current state = 'vu meter'
elif command == "DOWN":
if current state == 'volume':
decrease volume ()
elif command == "UP":
if current state == 'volume':
increase volume ()
elif command == "EXIT":
if current state in ['volume', 'vu meter']:
current state = 'menu'

# VU meter background mask image
VUMeter = bytearray([0x00, 0x00, 0x00, 0x00, 0x00, 0x00, 0x00,
0x00, 0x00, 0x00, 0x00, 0x00,

0x00,

0x00,

0x00,

0x00,
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# FrameBuffer

0x22, 0x00, 0x00,
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0x00, 0x00, 0x00,

0x00, 0x00, 0x00,

0x00, 0x00, 0x00,

0x00, 0x00, 0x00,

0x00, 0x00, 0x00,

for VUMeter
fb = framebuf.FrameBuffer (VUMeter,

def display menu() :
oledl.fill(0)

oledl.text
oledl.text
oledl.text

(
(
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0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,

0x00,
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0x00,
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def

def

def

def

def

def

oledl.show()
0led2.£fi11(0) # Clear the second display
oled2.show ()

volume control (volume) :

0led2.£fi11(0) # Clear the display
oled2.text ("HEADPHONE', 28, 0)

bar width = int((volume / 100) * OLED WIDTH)
oled2.fill rect (0, 30, bar width, 10, 1)

oled2.text7'Volume: {}1%'.format (volume), 0, 20)
oled2.text ("Press # to exit", 0, 50)
oled2.show ()

increase volume () :
global volume level
if volume level < 100:
volume level += 5
save settings () # Save the new volume level
volume control (volume level)

decrease volume () :
global volume level
if volume level > O:
volume level -= 5
save settings () # Save the new volume level
volume control (volume level)

draw_vu meter LEFT() :
x0 = hMeter
y0 = vMeter

r0 = rMeter

al Left = int(x0 + (sin(radians(MeterValueLeft)) * r0)) # meter needle horizontal
coordinate

a2 Left = int(y0 - (cos(radians (MeterValueLeft)) * r0)) # meter needle vertical
coordinate

oledl.blit(fb, 0, 0) # Draw vu meter background
oledl.line(x0, y0, al Left, a2 Left, 1) # draws needle
oledl.show()

draw_vu meter RIGHT () :
x0 = hMeter
y0 = vMeter

r0 = rMeter

al Right = int(x0 + (sin(radians (MeterValueRight)) * r0)) # meter needle horizontal
coordinate

a2 Right = int(y0 - (cos(radians(MeterValueRight)) * r0)) # meter needle vertical
coordinate

oled2.blit (fb, 0, 0)# Draw vu meter background
oled2.line(x0, y0, al Right, a2 Right, 1) # draws needle
oled2.show ()

vu meter (left adc,right adc):

global MeterValueleft, MeterValueRight

# Sample window in milliseconds

sample window = 2 # Adjust as necessary

# Initial values for peaks and signal min/max
PeakLeft = 400

PeakRight = 400

fallTimeLeft = 0

falltimeright = 0

startMillis = time.ticks ms ()

SignalMaxLeft = 0

SignalMinLeft = 1024

SignalMaxRight = 0

SignalMinRight 1024
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while time.ticks diff (time.ticks ms(),

sampleLeft = left adc.read ulé6()

/

sampleRight = right adc.read ulé6 ()

if sampleleft < 1024:

if sampleleft > SignalMaxLeft:

SignalMaxLeft = sampleleft

if sampleleft < SignalMinLeft:

SignalMinLeft = sampleleft

if sampleRight < 1024:

startMillis)

64
/ 64

if sampleRight > SignalMaxRight:
SignalMaxRight = sampleRight

if sampleRight < SignalMinRight:
SignalMinRight = sampleRight

PeaktoPeakLeft = SignalMaxLeft - SignalMinLeft
PeaktoPeakRight = SignalMaxRight - SignalMinRight

if PeaktoPeakLeft > PeakLeft:
PeaklLeft = PeaktoPeakLeft
elif PeaktoPeakLeft < PeaklLeft:

fallTimeLeft = (PeakLeft - PeaktoPeakLeft)

PeakLeft -= fallTimeLeft

if PeaktoPeakRight > PeakRight:
PeakRight = PeaktoPeakRight
elif PeaktoPeakRight < PeakRight:

fallTimeRight = (PeakRight - PeaktoPeakRight)

PeakRight = PeakRight - fallTimeRight

MeterValuelLeft = PeakLeft / 8
MeterValuelLeft -= 60
MeterValueRight = PeakRight / 8
MeterValueRight = MeterValueRight -

# Draw VU meter
draw_vu meter LEFT ()
draw _vu meter RIGHT ()

# Main loop
while True:

if current state == 'menu':
display menu ()

elif current state == 'volume':
volume control (volume level)

elif current state == 'vu meter':

vu _meter (left adc,right adc)
utime.sleep ms (150)

60

/

2

/

< sample window:

2



